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Profit: P-4 = V<cla)-F
P-$: revece
CC8): Vocicble cost
F: Fixed Cxt (rent)

Opfima | cordibion: P= Mmerginal Cos?
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Is it o increose in forfellii prices 2
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Modde 3 * Quation G
* Sopply Fonction
Q= 340.5p
* Tnvese scah Foction
Qe-dtosp = Q*3v0sp D 20+43)=P%
po): 26+6
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Poork now bove ma-e rorey. They veuld
(ine fo by more heeses .
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N ae boting at the equilibricom of
gosoline @nd there wes o decemse in prices fo
elcc#rlc Cos nd o0 increcse 1n .‘nfmdb»'
oil prices . wict 13 the eauilibriom
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Qiz=w-2p Q=P
Tyo T Pe2p = 2439P
20-2P 3P~ W 20t4=P2p iz
A=P-4 = @zp-4 24
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Q= 20-27 0

H-@ = @-4= 20-2p - (P-9)
O = 20 ~Pey
0z 29-3%p
3P+ 24
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